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HW #5 due on November 13, 2007
1. In what frequency range of a radio spectrum are cell phones? 
a) Medium frequency

b) Ultra High frequency
c) Very high frequency
2. The first electronic computer in USA was:

a) Macintosh

b) UNIVAC

c) ENIAC

3. Which of the following components can be found inside CPU?
a) Hard disc

b) Cache memory

c) Control unit

d) Both a) and b)

e) Both b) and c)

4. Which of the following is type of operating system?
a) ROM

b) RAM

c) Linux

5. Instructions in which language would be composed of a string of bits:

a) Assembly code/language

b) Machine code/language

c) Java

d) Unix

e) PowerPoint
6. Information capacity of the channel in bits per second 

is larger if:

a) channel bandwidth is larger and the ratio of signal power to noise power is larger

b) channel bandwidth is larger and the ratio of signal power to noise power is smaller

a) channel bandwidth is smaller and the ratio of signal power to noise power is larger

7. Decibel (dB) is:

a) 10 log 10  (Signal power/Noise power)

b) 10 log   2   (Signal power/Noise power)
8. AM is based on which of the following? Select one:

a) The amplitude of the carrier is varied in proportion to the frequency of the information signal

b) The amplitude of the carrier is varied in proportion to the amplitude of the information signal

9. FSK is based on which of the following? Select one:

a) The amplitude of the carrier is varied in proportion to the frequency of the information signal

b) The frequency of the carrier is varied in proportion to the amplitude of the information signal

10. Which of the following networks is smallest in size?
a) LAN

b) MAN

c) WAN

